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Lab: Conservation of Momentum Name K_e_JI---__
Part I: Elastic Collisions

BEFORE COLLISION AFTER COLLISION
Case #1

I . - BA A

(1 kg)( i m/s) + (1 kg)( 0 m/s) =
! kg-m

s

(1 kg)( 0 rn/s) + (1 kg)( 1. m/s)

1 kg~m

Case #2-

I
I (1 kg)(

I

A A

i m/s) + (2 kg)( 0 m/s) =
A kg-m
:J. s =

(1 kg)( 0 m/s) + (2 kg)( 0,5 m/s)
1. kg-m

s

Case #3

-7 ~ ~ ~ ----;-
A f B A I B

(1 kg)( 2 m/s) + (1 kg)( 1 m/s) = (1 kg)( 1- m/s) + (1 kg)( 2- m/s)

:3 _ kg-m 2> kq-m
s = s

Case #4

A BA B

(1 kg)( 1. m/s) + (1 kg)( -1 m/s) =
o kg-m

s

(1 kg)( - 1m/s) + (1 kg)( i m/s)
o kg-m

s
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Lab: Conservation of Momentum Name, _

Part II: Inelastic Collisions

BEFORE COLLISION AFTER COLLISION
Case #5

B .1
~

A I- B . ";,1A

(1 kg)( 1. m/s) + (1 kg)( 0 m/s)
i kg·m

s

= (2 kg)( 0,5" m/s)

= ~ kg~m

Case #6

B- IA A

(1 kg)( i m/s) + (1 kg)( -! m/s)
o kg·m

s o
(2 kg)( 0 m/s)

kg·m
s

=

Part III: Explosions

BEFORE EXPLOSION AFTER EXPLOSION
Case #7

A 'B A I

(2 kg)( 0 m/s)

o
= (1 kg)( - ~ m/s) + (1 kg) ( i m/s)

kg·m 0 kg·m
s = s

Case #8
4-

~{i'·~A ] ~
~'!~-~-

JB A I B

o kqm
s =

(2 kg)( -0.5 m/s) + (1 kg) (o kg·m'
s

i m/s)(3 kg)( 0 m/s)
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Lab: Conservation of Momentum Name'-------

Conclusion Questions

1. If a truck runs into a wall and sto s th t
momentum cannot be created or: It e d

ruck
loses momentum. Becausees roye I where does it go?

1"he f(\ 6-N\.e.t> fu 1'1\ '\AI i (I ~S e r \I e ~e.Co- rJ.i n;j
flr .k \IU 1- UH\S e V' »o:tie'Y\. ~fY'\.'" me f\"tu rn •

Re rri&-/n-eI\-fvM. (1)"$+ b'( -tt...e TI-v<!.K.. \Xl t (J
toe OLb~b-eJ. ft>J f'ke uu~Ji· -rk..e ('f\.e-+te.-t\. e:(.- t1.t.e

(JU« (( W ur ~e v(,V"J S,('f\.(J.J( ~€~ f'1t.e \JJa.,(f c's
2. ~omeone throws a heavy ball to you when ~~~a~~ -tkell bcJ ireJ..l'n <t

ou catch it and roll backwards H d Ing on ro er skates. d'
of the ball, and why? . ow oes your speed compare to the speed

rke fl,.-{-tt. ( cY\ frM<ft..fvM. We l( (!.C)-It~eV've 0

"TkL en.HYl e I\..tv 1\'\ ( &-s.t-- bj he b<'t, If /)IJ if( he
mf\.ffere~ -f-e... ~. ~ fe-f-oJ m.a.ss aJ1er
t-hLS (l\.elCtsh'c- Ce-{(L~l~1'\ (S ~:!QL,yJ~tz.e
mq.$s 1-\1..."(.. p~rs&(\ + O\.cUS' ~ tlt~l.ttH. I .fOtta r -=- ~I(I(' VI.I(((

3. A prospector finds himself holdin his b 1. ~U +"'?tt.r
of a large pond of frictionless ice gH ag 0: gold and standing in the mid&;;- -
freezes? .. ow can e get to the side before he
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